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Theorem 5-2 Perpendicular Bisector Theorem

If a point is on the perpendicular bisector of a segment, then it is equidistant
from the endpoints of the segment.

Theorem 5-3 Converse of the Perpendicular Bisector Theorem 6

If a point is equidistant from the endpoints of a segment, then it is on the
perpendicular bisector of the segment.
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Find the value of x in each diagram. R

1. Use the Pythagorean 2.
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Find the following:
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How would you measure the distance from Pt A to the line m? Segmentﬁ is 16 units long. Point C is placed 20 units

from AB and on the perpendicular bisector of AB.

A Find the length of AC.
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The distance from a point to a line is the /b ﬁ
PERPENDICULAR distance.
_ _ Eﬁ is the bisector
PQ is the perpendicular bisector of MN. Q is the point of intersection of Z ABC. SSS
of PQ and MN. If PQ = 9 and PM = 15 find the length of MN. Why is AQ=CQ?
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Therefore,

AQ =CQ by CPCTC



Theorem 5-4

Angle Bisector Theorem
If a point is on the bisector of an angle, then the point is equidistant from the
sides of the angle.

Theorem 5-5 Converse of the Angle Bisector Theorem

If a point in the interior of an angle is equidistant from the sides of the angle,
then the point is on the angle bisector.




